24 6

29

) 358
XML
XML
SVG
SVG FAX
30
SVG Scalable Vector Graphics
XML
VZSA50 RJTD SPAS)
24 VZSF50 RJTD SPAS)
48 VZSF51 RJTD SPAS)
XML

http://xml.kishou.go.jp/index.html




SVG

Z C _RJTD_yyyyMMddhhmmss_ MET_CHT_JClspas_image.svg
o4 Z C RJTD_yyyyMMddhhmmss MET_CHT JClIfsas24_image.svg
48 Z C RJTD yyyyMMddhhmmss MET _CHT JClIfsas48 image.svg
SPAS
24 FSAS24
24
48 FSAS48
48
24 7 2 13 JST
24 7 18 09 JST
24
ASAS
XML
FSAS XML

SVG




SVG
InternetExplorer

SVG

SVG

Svg

SVG

Firefox

60 140

SVG Tiny 1.2

SVG

24

L title

@dateTime

SVG

SVG

@kind

SVG
48 FSAS48

SPAS

SVG

24

FSAS24

SVG

L desc

L defs

Lg

Lg

Lg

@id="*map~~

id

Lg

SVG

29



@id="“weatherChart”” id
Lg SVG
@id="“boundaryAreas””
Lg SVG
@id="“plots””
I_g bl b
@id=““notes”” id
g path polyline
I_ g ®= & 7
text polyline
@id= ““label”” id
g path polyline
L g SVG g
SVG -2




@

g
@id="“map~~
Lg

@class="“map~~
Lg

@transform=“*matrix(1,0,0,1,0,0)>~ matrix

@stroke fill stroke

Lpolyline

@points=““x,y polyline

Ly

@class=““latlon”~
Lg matrix (1,0,0,1,0,0)

@transform==*matrix(1,0,0,1,0,0)>~
@stroke fill stroke
Lpolyline matrix (1,0,0,1,0,0)

@points=““x,y
Lg

@transform==“matrix(0.95 )

@stroke

Lpolyline matrix (1,0,0,1,0,0) polyline

polyline

SVG -3



)

9

@id=weatherChart

Lg

@class=““contour””

g
Lg g
@transform=““matrix(1,0,0,1,0,0)>~ matrix (1,0,0,1,0,0) g
@stroke-width stroke-width 2 20hPa g
4hPa 2hPa
SVG
@stroke-dasharray 2hPa
Lpolyline X,y
@points
Lg g 20hPa
efill==<#ffffff~ fill #ffffff
g
Lpath Mx1,yl Lx2,y2 Lx3,y3 Lx4,y4 Lx1,yl
@d
Lg g 20hPa
@fill="“none”” matrix (1,0,0,1,0,0) fill none
Lpolyline polyline
@points
20hPa

SVG -4




Ly

@class="“high~~

g
class low Ilow td typhoon
Lg polyline
Lpolyline
Lpolyline
Lg SVG SVG
Lpath
Lg polyline
Lpolyline
Lg
Lpath
Lg polyline
Lpolyline polyline
Lpolyline
Lg SVG SVG
SVG
Lpolyline
Lg SVG
Lpath
Lg SVG polyline
Lpolyline polyline
Lpolyline

SVG -5




SVG

class

Lg

@class=““warmFront~~

path

class coldFront occFront stnFront
Lpath
@class="“redSymbol~~
Lpath
@class=““redLine””
class
SVG -6




(1)
-
<g id="map"> id
<g class="map"> class
<g fill="none" stroke-width="1" SVG SVG
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